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y2Uxx + x2Uyy = 0
!#"%$

Uxx + xUyy = 0, x < 0
!'&($

xy2Uxx − 2x2yUxy + x3Uyy − y2Ux = 0
!*)+$

Uxx + yUyy = 0, y < 0
!-,.$

Uxx − 2 sin xUxy − cos2 xUyy − cos xUy = 0
!'/($

Uxx + yUyy −
1

2
Uy = 0, y < 0

!*0+$

e2xUxx + 2ex+yUxy + e2yUyy − xU = 0
!'1($

yUxx + xUyy = 0, x < 0, y < 0
!*2+$

Uxx − 2xUxy = 0
!*3+$

yUxx + xUyy = 0, x < 0, y > 0
!#"54+$

xUxx + 2xUxy + (x− 1)Uyy = 0, x > 0
!#"%"%$

sin2 xUxx − 2y sin xUxy + y2Uyy = 0
!#"6&($

xUxx + yUyy = 0, x < 0, y < 0
!#"5)+$

Uxx − 2Uxy + Uyy + 9Ux + 9Uy − 9U = 0
!#"7,.$

xUxx + yUyy = 0, x > 0, y > 0
!#"6/($

2Uxx + 3Uxy + Uyy + 7Ux + 4Uy − 9U = 0
!#"50+$

Uxx + xyUyy = 0, x > 0, y > 0
!#"61($

Uxx + Uxy − 2Uyy − 3Ux − 15Uy + 27U = 0
!#"52+$

Uxx + xUyy = 0, x > 0
!#"53+$

9Uxx − 6Uxy + Uyy + 10Ux − 15Uy − 50U = 0
!'&84+$

Uxx + yUyy = 0, y > 0
!'&("%$

x2Uxx + 2xyUxy + y2Uyy = 0
!'&%&($

Uxx + yUyy +
1

2
Uy = 0, y > 0

!'&8)+$

Uxx + 4Uxy + 10Uyy − 24Ux + 42Uy = 0
!'&9,.$

y2Uxx − x2Uyy = 0
!'&%/($

Uxx + 4Uxy + 13Uyy + 3Ux + 24Uy − 9U = 0
!'&80+$

y2Uxx + x2Uyy = 0
!'&%1($

y2Uxx + 2xyUxy + x2Uyy = 0
!'&82+$

xUxx + yUyy = 0, x > 0, y > 0
!'&83+$

4y2Uxx − e2xUyy − 4y2Ux = 0
!*)%4+$


